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Example A (A) Let’s look at the homework again.
(B) Let’s make the homework again.
(C) Let's take out the homework.

(D) Let’s begin the homework.

49. (A) My sister and I had the same room in the past.
(B) My sister and I had separate rooms.
(C) T used to make sure my sister had a room.

(D) I'm living together with my sister.

50. (A) Would you taste this?
(B) Would you tell me what you prefer?
(C) May I ask you to do something for me?

(D) Which one is your favorite?

51. (A) This is the only ticket I have for the concert.
(B) I wish I had a ticket for the concert.
(C) I'm not so interested in getting a ticket for the concert.

(D) I had a ticket and enjoyed the concert.
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52.

53.

o4.

29.

56.

What do I do with this pen?
Whom should I give this pen to?
How much is this pen?

Whose pen is this?

We can't go to the meeting.
I doubt if we can arrange time for the meeting.
I imagine the meeting is about how to make it.

I'm afraid we will be late for the meeting.'

I don’t feel anything from thatl
That's not in good tastel
I can understand that!

That’s not reasonable!

I don’t know if that is a beautiful beach.
That isn't the most beautiful beach in the world!
I don’t know what a beautiful beach is.

That beach is the most beautiful one in the world!

Smartphones are owned by four or five people in this school.
Smartphones are owned by four-fifths of the people in this school.
Smartphones are owned by forty-five percent of the people in this
school.

Smartphones are owned by forty-five people in this school.
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7.

B8

I have a ticket to Barcelona, Spain.

I have never been to Spain.

I want to visit Barcelona again soon.

I think Barcelona is in Spéin.

I like city life.
I have a busy and fun life.
I would rather live outside the city.

Maybe I should move to Tokyo.
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99.

60.

6l.

According to the passage, how many Easy-Bake Ovens were sold

between 1963 and 19977

(A) At least one million.
(B) At least six million.
(C) At least sixteen million.

(D) At least sixty million.

What does the Easy-Bake Oven use to cook food?

(A)  Gas.
(B) Fire.
(©) A lamp.

(D) A microwave.

What was the color of the new model of the Easy-Bake Oven after the

campaign in 20127

(A) Red.
(B) Pink.
(C) Grey.

(D) Blue.
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62. According to the passage, which of the following statements is true?

(A) The Easy-Bake Oven is designed for all children.
(B) The Easy-Bake Oven has become less popular.
(C) The Easy-Bake Oven has never been designed for boys.

(D) The Easy-Bake Oven has become more complicated to use.
63. What would be the best title for this passage?

(A) Easy-Bake Oven and Little Girls

(B) The History of the Easy-Bake Oven

(C) The Technology of the Easy-Bake Oven
(D) The Many Designs of the Easy-Bake Oven
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64. Why does the woman think water will be a big problem?

(A) Increasing population.
(B) Developed countries.
(C) Dry continents.

(D) People’s concern.

65. Which is the best description of the man’s first reaction when he

heard about the problem?

(A) The man was very interested in the problem.
(B) The man was not aware of the problem.
(C) The man knew what the serious problem was.

(D) The man showed thoughtless joking.

66. According to the conversation, why hadn’t the man thought about the

problem?

(A) Because he never wasted water.
(B) Because lots of fresh water is available in his country.
(C) Because he hadn't visited Australia.

(D) Because he lives in a crowded city.
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67. According to the conversation, which of the following is true?

(A) Developed countries have this water problem.
(B) Developed countries lack clean water.
(C) Developing countries do not have such a huge population.

(D) Developing countries do not have enough clean water.

68. According to the conversation, which could be the solution to the

problem?

(A) Increasing the population.
(B) Advancing technology.
(C) Government's awareness.

(D) Letting the price of water become cheaper.

B T % B8)
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